< 5
N =%
3 ﬁ I_ >
— o [ ] .n.u
) % c w o N
> E a 2 5 o
2o Q =3 £
= a - . >
o€ w N
S |
o o e N
‘» O > 5_
225 N T 28 2
£ =222 21815 5
N £ o w - o
0 o 28812 |25 8 < o
= - o™ <o & ~ o
X N2t 1z IR AR > |
2 N ot S [ B x| Z |3
-] .o | X|O o o (%] ‘N |
L SE® >0 Il I o
) ‘0 c &g z Q| v | g D ©
° 2 23%° Oll>| =3 ad °
— — a ) 2 %0 | |E [m)] P
© = N S0 v O O [a]
O « ~ 0 - X © o
X © o £+ |5 o
= m 5 w zo®© m @) M o
—_ . © = u .
N < 80T ° o305 | 298 Slz i zlol= m
© > x n - LN o x WIN || 2|~
- W c O O c 2 oc— |0 - =) > =)
2 O O 2N o uwSxnN Ze NEAEEER IR 0
Q ~ ~ oo O [=) 8 © o o ! N - @ K
2 X %] Soa = ENQ o = Nie 5|6 || L c
c > x| 3 w 3= S g NS [ I g8l ae|ello =S
c & w o« N -T =N 2 s|g| 8o W_ °
cC .= -~ . [ — X o N
) Qv |l Nol s NS z 5 R e S o -
S c xgll=| o £ = Lo oz ur| 2] | N |=e e
S ® i E ol Oz g @ 3=~ ° 3 =| || E=]e -
z = | X = 2Z0 = N ER) s 2 S| 5| 2 = o
v < w © N 4N} IS o y £ €
o 2 < o 9 ||x [ = - o o
S o g o Q ] X N ©
o = NdiNe) 1S (-] 3 o o)
.. ! ! ~ (04 > < < [ — —
1%} N O - w — . ‘O =) ..
< 2l o2 ° < a < z
< E| E o
2 o _o |z - by 2 |s|o Tl.zlz 2.5 o
prd < ® [-) ~ >Z| < | = . -
I s ey ¥ 3 SHEERE R INEERE
- = ¥ | X
w ANnm o Mw DAW.OEEmAR B
O > 2 W <|= 2313 2 llala =
LLl N w < ~lo|| 2|92 2| a 3 o
. W TS ol a | O = ~
O Q > =
2 ~ o
049 186Gl
g
20 66'€9 51 areo T
20 / 96'€9 L y9'e9 Loeie =
\ L 569 o000 )
20 £6'€9 L 69'€9 L 866
<
S
P
- N
8
S
s
19€9 | ceo8
24y 88'¢9 99'€9 1z
@ 88'9 | 99't9 | eou
NNH wwws = r 88 r SHR
2 88'c9 g 99'c9 £6'9.
T
S
w
W
16'€9 L 8059
=
2
<
RN
° ¥5'56
2
y I
= o) = w0 2079 |88 g | 990
X T 3 m 10 209 8 e959 S5 [ 150
N o o | T, ¥ %
[a] [a] m o -
c c c o g =
° 9079 WM Loy
N~ > ° 5
-— -4 e I
T =
S8 8 8 e
(ST - o
3
<
n
5] - L szoe
M;.; ZL9 L c0'v9 L 906z
o' ZL'9 - L 509 L ee'oe
% S
o S
< i
uy
<
=
<<
x
£
m &
==}
e in
j4 I
2 . »
S ) Lo
=
w0
o
= =2
c Nw S
w ]
g 90’0 00 9149 T L o1've L e
W 10'0 Lo 9L'y9 L 609 L 9% ©
g » »
= REIR ) . -0 )
o <
5 g
o
€10 el 6179 S 909 | 1se
20 N‘E 61'%9 Sr 019 F eove
)
i 0z'79 L 6506
\ _|,|\ 02v9="22 N
-
500 Fac) s L 29 L 8718
A
o ]
00 1219 s e 61°9L
900 i 82’79 Lo zzne Coes'sL
00" SCTeia + 8019 FoeEho Fougas
¢ g X ‘
ool 8279 g 9 v9'sL
w00 6 |5 £€'v9 250,
80'0- 6279 o 199 16'89
80'0- 6279 L) [ 89'89
80°0- / 629 RE e r o299
100 b9 A L1089
v0'0- 7 €'y ] L /899
$0'0- 0E'v9 g | vEY9 ov's9
089 S % 60'69
5
R 0£'09
. I .
2219 L 16's
g
R 2
(%] 3
E| it
4 — —
+ © e]
N a a
@ @ @
c c c
O , . ' g
© 10- L oo L1y L ey
<~ 000 L 6049 L 609 oo
©
w0 o
o o o z T
< N S ? o
g &
®
AL
2 o
=
b
=
S
o
s
96'€9 L al'se
=3
>
' 56'€9 W Lo66c9 L olgl
(=23
2
0%
00 56'€9 L 109 E erey
<3
3
=
s
669 L 195
8
& ©
n
u
06'¢9 g 00 )
L = L
5 2
<
£00; 88'€9 Lot | 2| L L osrcs
< S | e
Al S R z
99'¢9 2 109 09’56
T
£9'¢9 L 698
8
&
n
91'0- 0£'¢9 L og'e9 L szu
200 19'¢9 B I 665'€9 L 19%69
i
o 96'¢9 ) 70'69
:%.o 95'€9 L wwmw £ 18
- " (=3 .
95'€9 g £e'r9
< i
g
<
RN
> S
N g S
+ | a W
n ke m c i
& e o Z y9'69 s
2 2 [ e | 99'¢9 | 99¢9 kS
o 000 \ 19'¢9 [L9%9 [ sy
Tp) o- 4 0£'¢9 - FoHe Fov
oo e | B G189 e
<~ <
A
o o [e]e) @
= @ &9 2
o ~ —Q Wy
20 98'€9 L 69 5| L ougse
=
— 15'ee
&
N
h_
9079 L o0z
X
3
8
IR AP R
00 0K'p9 Ny ,
[, pofiie 51 oo've L el
bo'o 0L'y9="g20 0199 mm,mw Nm»t
£0'9 Ge'll
=
o
=4
S
A
8
8199 % 65°¢
o 619 S 909 er'e
e 6179 E o S6'e9 Eoogee -
6 TR - 70P9 Fone
1o 19 079 000 O
e S'v9 F 869 F £9'66
oW 5179 ©| 16%9 89'66
L9 < 12'66
. u
&
o
]
<
=
<<
x
=
>
=z
(&)
o
=
-
O
o
<<
=z
S .
= e}
[72] ©
Q 0
z by
X 5 5
i 51'€9 61'vL
S 2o 51'€9 L €989 S
z €10 | p'g9 L loes L eee
z £ro vL'89 1989 au
o
S S
g 5,
5
pA
s
0£'¢9 L pl'ss
— 3
— & g
N N, I o -
7] © S @ c . . . ‘
oY Y o NE 91’0 69'€9 L e5'e9 L oggy
o o Q o=
c c O ok =
o) S
<t w0 [ Z »
69'€9 L oorey
<
o o O OO
Q O K &S %
o ~ «— v~ =
5,
600 29'¢9 L e5'e9 L 662
=2
N
~
S
s
) 65'e9 ) 901z
o a5'9 - B9t = ee'te
o gg'e9 AR T s
=
=
S
A
00 15'€9 ol 699 Lo
. e .
w2 5] i
00 58 | e s
! 85'€9 S E 6%
o o
! 85'¢9 ) 69' o
80'0 ao'eo = L 15'e9 ey
<t
L 899 ) o000 )
A
<
&
5,
06'€9 ~ L v5'08
o
510 \ 16'€9 by TR L 18
26'€9 i/ 8 ) 16'18
o ,\ 0669 B 8 - 9908
S O— 26'69 | e - gL
7o | 06'€9 _L e L oess
srol | 06'€9 e L egaL
710 88'€9 | rLes o
<3
g
o
n
69'€9 - L sre9
600 59'¢9 wﬁ 95'€9 - | c'6s
600 59'¢9 - 95'e9 o Foo1ees
2
=
g
> T
— ©
N N =
T . .
+ < S g 65'€9 L vlog
& § 7 Z
c c [CI= .
o g
3 s
<
o oo o 0
© n K o <
S - < o 500 65'€9 WLopgee L 6roe
£0'0 ‘ 65'¢9 L 95'co L €'
65'€9 Foee'ee
=
3
8
=
A
8
S
n
) ) ! 59l
mmw ; €1'e9 - wwmm Fore
2189 o
&
&
u
N
L 19'e9 o000 )
£0'0- 95'€9 L 65'e9 A
3
o
3
T
90'0- 87'¢9 - L ¥5'e9 L8
97'e9 | s0c8
80°0- 97'e9 - vee9 AT
=2
=5
&
o
A
8
S
n
25'e9 L 809
200 25'e9 L 0g'e9 L 2619
=
g
=Y
<
A
k4
N N
5 o c
¢ £ £ Az,
c c [ &
)
o
(Q\] £6'¢9 L ey
< 000 5'€9 L v5'e9 L ooy
3 3 S 00 w589 | B L 15'e9 L 96
) > g
o N 5
- 000 5'e9 T L sg'e9 L srse
2
I
h_
65'€9 L e
€0'0- 65'€9 oF 799 L zo9
<
0
I
200 85'€9 L 09'¢9 L veel
=
g
s
85'€9 L g9
o
L 59 - L 000 6
W
=
=
3
o
900~ i 05'€9 L 95'c9 L #'6
67'€9 - 2106
[rel
£0'0- f 15'€9 L v5'eo A
o I
= = =
o~ o
& a |58
i
=
>
=z
>
Q
= ) ) ) 8 )
S €00 89'€9 59'€9 sl B wu
o 200 0£'¢9 r 89'e9 S| L oou
w wo | 0£'¢9 F89'e9 S B F stu
3 g0 | 21'e9 o 699 A
@ . ‘ - . ~ ¢
< 200 €1'¢9 s e £0°0L
= 5
S 2 »
2 619 | ovee
) 1579
>
w
o X
o ]
= <
= S
A
5
E
=z
o
=
= — o
[+)] Y ©
8 8 8 8 < 3
Y h o o & i
e o & o F N -
@ @ @ @ BB . 89'¢9 , 6v'op
< s 5 < wo S0 Cg=2zs 989 | 06%€9 L cocy
o 200 — 88'9 g 06°€9 15'h
v 3
~ L
¢ 26'€9 =] , v@.mm
= 28 32 g 000 €669 S| 6% 96'9¢
. — .. (e
o o« - - o 100 = : €6'€9 =L % o699
ero €6 €9="12 €69 08'e9 6v'9¢
10'0- 6889 {069 8618
L'0- 6889 S ose9 .
00| 88'c0 ~F eveo Fosele
0l 1869 - e'e9 L KLE
50° 98'c9 < o189 r MMMM
50'0 98'¢9 2 18'¢9 )
29'¢9 B s
2% ) _ I s9'e9 L srie
29'¢9 T cove
' 1969 L v9'e9 L 89z
3
&
F
-
L 69'€9 L 000 @
3
€10 £9'¢9 3 | os'eo | so'68
£ro , £9'¢9 @ F05'e9 F coes
19'€9 L 6068
<=
e
h_
91’0 86'€9 L zr'e9 L 1'e9
81’0 159 L 6e'e9 L 69'S
= g
—~ =
3 m_ a 3
» © EE g 4
5 & 535
[ c o o o
o
A
m m _._Ou m m 0€'0 ¥5'€9 L €9 L ce'ge
S - CC g 1£0 5'€9 Fogz'e9 Folele
€10 1569 | ee'e9 | orst
210 05'€9 Foee'e9 A
2
o
T
67'€9 L 895
(=2}
. 2 .
L pr'e9 > L 000 é
W
120 9¢'e9 . | ar'eo | 86
120 E'e9 5 L €L | 806
£20 'e9 & 11'e9 20'06
0€'€9 L eg'cs
8
S
h_
<3
wn
8
T
zi'e9 - L slo
=)
g
T
500 11'€9 ) 0€'19
900 11'e9 E 5069 £ 26'99
> 900 11'e9 50'€9 99'99
o
p [22]
g g
Z_ Maw-
S £
N
¢ £ 3
c = o
o
o o o . " ‘
IS © S 81’0 80'€9 L 0629 L ogy
- — N
10 80'€9 2 L 1629 L sy
3
T
10€9 80°07
o
' 5| & Z | 2 3
g 3 5| ¢ = g 2| 5
s g " = z = z 3
£ £ . w = w = ad
3 3 & g z 5 g g
@ ” - o @ o I a
o w o w o




